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Exam Exam
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Question No. 1

few v Reredt & @ 3w & A

o ¢

A)

Find the ODD one out from the glven ﬂpt:mns

A) B)

0 D)



<

Answer Key : C Your Response : C (Correct)

Question No. 2

frely G & A1fdw & #dAleg el IR =gia A For d&qT FY * & H A
ST €1

A) FSIATT TEAl B) Udlmgl HEAT

C) | &&ar D) SR AR

The sum of the total number of protons and neutrons present in the nucleus of an atom is

known as-
A) Mass number B) Avogadro number
C) Gauss number D) Atomic number

Answer Key : A Your Response : A (Correct)

Question No. 3

SEAd Il UF ¢ S A # ¥ fr ool AdEERE@ar AR aRa & T
HeTEYT U9 R HTesT GERT ¥gFd ¥ & fawraredher §1
A) AT Jg h B) &l ol fAASA
C) BsWEIS ol TAAS D) o3 HiFac TITHIUCT
BrahMos Il is a currently under joint development by Russia's NPO

Mashinostroyenia and India's Defence Research and Development Organisation.

A) Main battle tank B) Subsonic cruise missile
C) Hypersonic cruise missile D) Light Combat Aircraft
Answer Key : C Your Response : C (Correct)

Question No. 4



Sofr @ Qo K|

31, 29, 24, 22, 17, (..
A) 13 B) 12

C) 14 D) 15
Complete the series.

31, 29, 24, 22, 17, (...)

A) 13 B) 12
C) 14 D) 15
Answer Key : D Your Response : D (Correct)

Question No. 5

51 ¥ 9 T & w4t Ao 872
A) 200 B) 240
C) 156 D) 172

Which of these numbers has the most number of divisors?

A) 200 B) 240
C) 156 D) 172
Answer Key : B Your Response : B (Correct)

Question No. 6

FleT  FE&ar AR {U o Hey i wefeaw dor § qub weh




Which number will best complete the relationship given below?

13:38::17:7?

A) 57 B) 50

C) 83 D) 55

Answer Key : B Your Response : B (Correct)

Question No. 7

GleAdT FT Jg & o &3T I Al

A) FHaR 3R TOT Alew B) §HT 3R AT A A6

C) gAY 3R R e I D) srsx 31X Irom A

The battle of Khanwa was fought between-

A) Akbar and Rana Sanga B) Humayun and Nasiruddin Nasrat Shah
C) Humayun and Sher Shah Suri D) Babur and Rana Sanga
Answer Key : D Your Response : D (Correct)

Question No. 8

Ifg fAfRaa gesmsr #, ‘put tir fin' FT Adel 'delicious juicy fruit' & , 'tie dip sig' FT Hceld
'beautiful white lily' &, 'sig lon fin' @ #dee 'lily and fruit' &1 3 Hesmwr 7 Am=faf@a 7 @
frasr Ades 'and' gem?

A) fin B) lon
C) tir D) sig

In a certain code language, 'put tir fin' means 'delicious juicy fruit', 'tie dip sig' means 'beautiful
white lily’, 'sig lon fin' means 'lily and fruit. Which of the following stands for 'and' in that

language?
A) fin B) lon
C) tir D) sig

Answer Key : B Your Response : B (Correct)



Question No. 9

fArfaf@a # & fhw T Tog 1 QEAslfAF qar F & #F @ v §?
A) O- B) A

C) AB D) B

Which of the following blood groups is known as the 'universal donor'?

A) O- B) A
C) AB D) B
Answer Key : A Your Response : A (Correct)

Question No. 10

?mﬁwﬁﬁﬁaﬁmﬁﬁrzﬁ,ﬁ;ﬁ%mmﬁaﬁﬂtmm
|

2 +
- o +
0
+/\+
o ¥X++X o
o | o
A) B)

0 D)




Choose from the alternatives the figure that best completes the
pattern given below.

o) +
o +
i
+ +
o +|+ o]
o o]
i 7 h
0 D)
+ o]
O
0 +
Answer Key : A Your Response : A (Correct)

Question No. 11

8 W AN a1 U et & 3HeT IHHT R FT FIRN FA §U FAC 0 TF J9 M 476 A
CAE LY

A) 64 qFr? B) 144 T2

C) 136 @#r D) 128 T2

Find the area of a square inscribed in a circle of radius 8 cm.

A) 64 cm? B) 144 cm?
C) 136 cm? D) 128 cm?
Answer Key : D Your Response : D (Correct)

Question No. 12

IR 2T AT 872
A) TGO & ATEIH O qTA B) 3urfass 3iTediel & foar 9w



C) ITHST F HATETH T QG

What is aerobic respiration?
A) Respiration through skin
C) Respiration through gills

Answer Key : D

Sofr & qut Y1

5, 4, 6, 15, 56, (..)
A) 283

C) 275

Complete the series.

5,4, 6, 15, 56, (...)
A) 283
C) 275

Answer Key: C

cos? A - sin? A & AT T AT

A) sin? A +cos® A

C) 0

Find cos* A - sin® A.
A) sin? A +cos? A

C) 0

D) 3iferdield &1 3uyfa 7 9a

B) Respiration without molecular oxygen
D) Respiration in presence of oxygen

Your Response : D (Correct)

Question No. 13

B) 271

D) 253

B) 271
D) 253

Your Response : Not Answered

Question No. 14

B) cos2A

D) 2

B) cos2A

D) 2



Answer Key : B Your Response : B (Correct)

Question No. 15

afg farddt =2t & al e & 64 fAde & o A &, af a8
o gfafte Fraar I & S &2

A) B)
8 16
32— fA=e — A=
11 11
C) D)
32
— fA=e 172 e
11 1

How much does a watch lose per day, if the hands coincide every 64

minutes?

A) B)

BZE minutes — minutes
11

(o)) D)
32 . _ 5 )
— minutes 17— minutes
11 11

Answer Key : A Your Response : Not Answered



Question No. 16

gfoter & d1g, 3T dlag st F @i e uder @ar wWar § 3 IR @ Sher § 39

FgT ST 8
A) TGHT FT Fgdr JaEAT B) dgHT &1 fadhasT 3raeam
C) IGAT FI &7 HaEAT D) dlg Hr atfe raedr

Atfter full moon, the next fourteen days where the moon grows thinner and thinner and becomes
invisible is called as

A) Increasing phase of the moon B) Growing phase of the moon
C) Waning phase of the moon D) Waxing phase of the moon
Answer Key : C Your Response : C (Correct)

Question No. 17

fRw 1w Rewedl F & e @ el
A) 885 B) 695
C) 489 D) 395

Find the ODD one out from the given options.

A) 885 B) 695
C) 489 D) 395
Answer Key : C Your Response : C (Correct)

Question No. 18

T T 400 T gy FPua v T #r 3T 60 fRHAfEer i O @ FR ded §T AT &1 b
30 fAsie & a1g, gfew 80 freli/der i arer § GIoT Wl Y& A gl IN & TH3 A dh
qferd g@nT aF #I 5 gt o geme?

A) 120 e B) 70 faafr

C) 90 fre D) 85 fel

A thief escapes in a car driving at 60 km/h towards a city 400 km away. Only after 30 minutes,
the police start to chase at 80 km/h. What distance will the police have covered when the thief



is caught?

A) 120 km B) 70 km
C) 90 km D) 85km
Answer Key : A Your Response : Not Answered

Question No. 19
TEAT 3675149 # '5' & T 3R 3ifhd AT & 9ig &1 3aw A9 ffaw]
A) 495 B) 5000

C) 4995 D) 4990

What is the difference between the place and face values of '6' in the number 36751497

A) 495 B) 5000
C) 4995 D) 4990
Answer Key : C Your Response : C (Correct)

Question No. 20

o1 ¥ 9 @ F Ugell s 1990 H TRS Wal & WA BFar a=r ar?
A) TIAAT B) Hesar

~

C) wrRfafFeT D) T

In 1990, which sport was introduced in the Asian Games for the first time?

A) Triathlon B) Kabaddi
C) Power lifting D) Snooker
Answer Key : B Your Response : B (Correct)

Question No. 21

39 oo H oot FYer R § 3R 3% A o s e aw 1 T84 fmd oot S e ¥
¥ Fad 3ugEd R

CGH



1) 3o 7Fas feeel €l
2) F FrclHrcm TFaS g1
3) & Ae1s feelr E
forsen:

|. | PRI oS §

Il. S AAE Pl 78T B
A) sy | 3R 1 el 8 3ugerd Bl B) hddl faishy | 3uged ¢
C) wdd fashy Il 3uged g D), & ey | & |l 39 B

In this question, three statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:

1) Some Mumbai is Delhi.
2) Some Kolkata is Mumbai.
3) Some Chennai is Delhi.

Conclusions:
I. All Kolkata is Chennai.
Il. No Chennai is Kolkata.

A) Both conclusions | and Il follow B) Only conclusion | follows
C) Only conclusion Il follows D) Neither conclusion | nor Il follows
Answer Key : D Your Response : C (Wrong)

Question No. 22
AR & Frg Fenfld TS #F Jard U cgaeT Fé &7
A) TIeTG B) &&el 3R &
C) feeelr D) amexr 3R 9’ gdenr




In which of the Union Territories does the Panchayati Raj system NOT exist?

A) Chandigarh B) Daman and Diu
C) Delhi D) Dadra and Nagar Haveli
Answer Key : C Your Response : C (Correct)

Question No. 23
famfaf@a & & e 3R F srgeerie d@or a1 &2
A) Iereieieer fAfwar B) 3frereenoT
C) 3r@eigor 3fAfshar D) I9adel

Which of the following reactions produces insoluble salts?

A) Neutralisation B) Oxidation
C) Precipitation D) Reduction
Answer Key : C Your Response : C (Correct)

Question No. 24

ST &Y A1 ar ¥ it wfawe’t #r tHgEt & Y FAGR ST AT §, ar F 93 8 &l
A) e B) #of A A
C) HAWIMR A H D) ofge #

When two or more resistances are connected end to end consecutively, they are said to be
connected in-

A) Straight B) Series
C) Parallel D) Line
Answer Key : B Your Response : B (Correct)

Question No. 25




7T ﬁﬁng;a%_%

A) B)

O] D)

Simplify: 3_+5,E_4E
3 6
A) B)
8 12
0 D)
4 2
Answer Key : C Your Response : C (Correct)

Question No. 26

Ifg dier & ‘fer Her Sar -, el F Whe' HeT ST § Whe' B W, T oA I IR
T T AT FT AT 8, ot "G FH T AT m?




A) &1 B) airelr
C) ¥%g D) ofTel

If 'yellow' is called 'blue'; 'blue’ is called ‘'white'; 'white' is called 'green’, 'green’ is called 'brown’
and 'brown’ is called 'red’, what is the colour of 'milk'?

A) Green B) Blue
C) White D) Red
Answer Key : A Your Response : A (Correct)

Question No. 27

frfaf@a 7 ¥ *la a1 [@ard, H20 IR v 7 ARG F AT Yoo arer qa& FH7 37
1 @St 87

A) FTIET 3ATGHT B) e fahere

C) gféer qrsam D) arfRiaTest Hex

Who among the following is the youngest player to play for India in T20 Internationals?

A) Jaydev Unadkat B) Ishan Kishan
C) Hardik Pandya D) Washington Sundar
Answer Key : D Your Response : D (Correct)

Question No. 28

Ifg axb=a+b+\ab @ 4 x9 & ART AT Hiferw

A) B)

O] D)



Ifaxb=a+b+ J:E . then find the value of 4 x 9.

A) B)
29 49
0 D)
20 19
Answer Key : D Your Response : D (Correct)

Question No. 29

&Y el fr sAIBIaRET F w2 gar & S VAfAF 9T FT FROT I GT §?
A) #Yor(Sliding) B) @4(Vanishing)
C) oliea (rolling) D) Sealtehal

What happens to the irregularities of the two surfaces which causes static friction?

A) Sliding B) Vanishing
C) Rolling D) Interlocking
Answer Key : D Your Response : A (Wrong)

Question No. 30




9 AT A T & Qo & fAerr sar &, ar I8 & ST gl
A) e B) =Raf
C) et D) 3reTeT

S

When litmus is added to a solution of borax, it turns

A) Blue B) Orange
C) Red D) Pink
Answer Key : A Your Response : A (Correct)

Question No. 31

fArfaf@a Aol & goa d&ar A fifaw|

5, 8, 13, 21, 34, 55, (..), 144, 233

Find the missing number in the following series.

5, 8,13, 21, 34, 55, (...), 144, 233

A) 94 B) 91
C) 89 D) 85
Answer Key : C Your Response : C (Correct)

Question No. 32

1.75, 5.6 3K 7 & F.@.9(LCM) 3R F.F.I(HCF) 7 a Hifaw]
A) 28, 0.25 B) 24, 0.35

C) 28, 0.35 D) 24, 0.25

Find the LCM and HCF of 1.75, 5.6 and 7.



A) 28,0.25 B) 24,0.35
C) 28,0.35 D) 24,0.25

Answer Key : C Your Response : C (Correct)

Question No. 33

RS =3T2¢% AT S + T & yfavd & § #H Fad Aow|

A) 40% B) 75%

C) 20% D) 25%

If S = 3T/2, then express 'T' as a percentage of S + T.

A) 40% B) 75%
C) 20% D) 25%
Answer Key : A Your Response : A (Correct)

Question No. 34

Y AET FH 1/4af FEAT wihce W AN /841 fFar ASSr W @ = F 96, Th a5h F
U $.40 AY 99 §| YOI H 3HH U Fhcen TRY A2

A) %.64 B) %52

C) %.100 D) %.80

After spending 1/4th of pocket money on chocolates and 1/8th on pizza, a girl is left with Rs.40.
How much money did she have at first?

A) Rs.64 B) Rs.52
C) Rs.100 D) Rs.80
Answer Key : A Your Response : Not Answered

Question No. 35

T &1 G & HROT g B

A) THd B) &
C) %wsr D) #AfEasHh



'Pneumonia’ is caused by the inflammation of -

A) Liver B) Heart
C) Lungs D) Brain
Answer Key : C Your Response : C (Correct)

Question No. 36

\fcotzﬁ-cnszﬁ FT AT AT HIAAT]

A) B)

cot 6 cosec O
Y/
: \
cos O cosec O j ins 5]
Find the value of \/{_‘_ﬂ-‘tze -cos’B.

o
v

A) B)

cot 6 cosec 6 1

0 D)



cos B cosec 6 cot 6 cos B

Answer Key : D Your Response : D (Correct)

Question No. 37

TS, 30T § 0T o 937 §| NT a§ 9gA, a8 30T A Jolell F AR AT 3T AT| T I
freer a¥ @7 &7

A) 15 B) 6

C) 12 D) 27

Raja is three times as old as Arun. Three years ago, he was four times as old as Arun. How old

is Raja now?
A) 15 B) 6
C) 12 D) 27
Answer Key : D Your Response : Not Answered

Question No. 38
g 4 $4#2=83x3%$8#2=128 A7$6#3="2
A) 14 B) 16

C) 9 D) 11

f4$4#2=8and3$8#2=12,then7$6#3="7

A) 14 B) 16
C) 9 D) 11
Answer Key : A Your Response : A (Correct)

Question No. 39

30T T {Mier elfaeter & AT $.16000 T wAshe ST oAl dlecl § 3R Frem 3T Sehfasis



H 2 af q1€ 4%, $.17776 # Wlhea AedT & I FUROT AT i &7 5% ¥ §, A gFeler
¥ fw @l @ Her dEeR 87

A) gt Gl # & FIs 8T B) &l U TATT g
C) 3T & D) &Tel &
Arun wants to pay Rs.16000 cash for a colour television and Bala wants to purchase the same

for Rs.17776, due after 2 years. If the rate of Simple Interest is 5% per annum, which of the
deals is better for the shopkeeper?

A) Neither of the deal B) Both are the same
C) From Arun D) From Bala
Answer Key : D Your Response : D (Correct)

Question No. 40

cafar fr smgfea v, a1 & A 3R Trer v i FIT e Ee

A) B)

V:\-ri'l}i U:}S_'\.T

0 D)

v=A/v v= A v?

What is the relation between the frequency v, wavelength A and speed
v of the sound?

A) B)



v=v/A V=AV

O] D)

v=A/v v=AV

Answer Key : B Your Response : B (Correct)

Question No. 41

Fler & " AT Ru v @6y F wafcad & & qoF Sl

C) 76 D) 72

Which number will best complete the relationship given below?

12:46::18:7
A) 74 B) 70
C) 76 D) 72
Answer Key : B Your Response : B (Correct)

Question No. 42

fAefaf@a sofr # seuRya seR-wE 1d STl

DZ, LA, (.), PK, LP



A) OR B) PF

C) WV D) LK

Find the missing group of alphabets in the following series.

DZ, LA, (...), PK, LP

A) OR B) PF
C) wv D) LK
Answer Key : B Your Response : Not Answered

Question No. 43
sar¥ fig feafiggrea (BHU) fFa Tswr #F foue &2
A) IR@US B) 3carad
C) feer D) 3ecX waRl

In which state is the Benaras Hindu University (BHU) located?

A) Jharkhand B) Uttaranchal
C) Bihar D) Uttar Pradesh
Answer Key : D Your Response : D (Correct)

Question No. 44

YR =7 10 @ 3K F21$ 20 {0 A UF AT B AW IMUR freq gIel FA$ At A
# aRafda = # el §T er F1 yfaed A fifsel

A) 25% B) 33.3%

C) 20% D) 35%

Find the percentage of wastage material in converting a cylinder of base diameter 10 cm and
height 20 cm into a cone of equal base, but double the height of the cylinder.

A) 25% B) 33.3%



C) 20% D) 35%

Answer Key : B Your Response : Not Answered

Question No. 45

U & Frfafad Rgid # ¥ Sl a1 e P e i aAar & § F @ e Swer
&7

A) TAdeaRdr(economy) &1 f&ga B) faf¥addr(certainty) &1 &gia
C) fasuerar(equity) 1 Rgia D) gfaem(convenience) & f&id

Which of the following canon of taxation is also known as 'ability to pay’ principle of taxation?

A) Canon of economy B) Canon of certainty
C) Canon of equity D) Canon of convenience
Answer Key : C Your Response : D (Wrong)

Question No. 46

¥ # AR T TSI AT G@RT &TAIEH a=ienyol Iy e ol B ar=m &
A) 2010 B) 2014
C) 2016 D) 2008

Compensatory Afforestation Fund Bill was passed by Rajya Sabha of India in the year-

A) 2010 B) 2014
C) 2016 D) 2008
Answer Key : C Your Response : Not Answered

Question No. 47

PFIRf@d # ¥ 5 ac@ 1 RegaRoTcAsd TaiF §7
A) FRle B) s
C) NI D) 3maE

Which of the following elements has the highest electronegativity?



A) Chlorine B) Bromine
C) Fluorine D) lodine

Answer Key : C Your Response : C (Correct)

Question No. 48

IHaad o & ATT Pihd W A g el gel arelr Sehmer BT, 3qader & 1
Aol

A) HET 3eT & FAEIHR B) dIshdl g & gl
C) o= fordlr fagere & D) HET Wihd & gt

A ray of light appearing to meet at the principal focus of a concave lens emerge after refraction
will be-

A) Parallel to the principal axis B) Through the centre of curvature
C) Without any deviation D) Through the principal focus
Answer Key : A Your Response : A (Correct)

Question No. 49

fAefaf@a # & &l @1 FIgT F1 & §F 37E &2

A) sgeA B) 3msd=
C) SUSelleT IelSehiel D) Feradia

Which of the following is a byproduct of soap?

A) Butene B) Isoprene
C) Ethylene glycol D) Glycerin
Answer Key : D Your Response : D (Correct)

Question No. 50

Rw 71w et & ¥ e @ oA
A) ¥Y : X B) &R : oA
C) fespe : ¢ D) 8% : Uel



Find the ODD one out from the given options.

A) Stamp : Letter B) Car: Engine
C) Ticket : Train D) Ink: Pen
Answer Key : B Your Response : B (Correct)

Question No. 51

TF g 36 Whs A TH TolchIA H UR H § AR coehled W @3 U safFa @ 20 ds
IR At gl AfE g7 Fr aifer 54 fFveer §, O colewle fr Fars fhae §?

A) 120 #rex B) 360 #rex

C) 240 #Hrex D) 300 #Hrex

A train passes a platform in 36 seconds and a man standing on the platform in 20 seconds. If
the speed of the train is 54 km/h, what is the length of the platform?

A) 120 m B) 360 m
C) 240 m D) 300 m
Answer Key : C Your Response : Not Answered

Question No. 52

ffaf@a & & e waifts #@Er 7 @fes e giar &7
A) 3H B) el

C) 3R D) &g

Which of the following has highest amount of citric acid?

A) Mango B) Banana
C) Grapes D) Lime
Answer Key : D Your Response : D (Correct)

Question No. 53

©g csfiie 16 R&T & U 71w v a7 &t a7 N Toha &1 4 e FF 3 FH FF o &
fohaer et eRh?




A) 22 R B) 24 &=
C) 20 fe= D) 18 fea1

Six typists can type a given data in 16 days. How many days will 4 typists take to do the same
work?

A) 22 days B) 24 days
C) 20 days D) 18 days
Answer Key : B Your Response : B (Correct)

Question No. 54

frfaf®d F ¥ Sl o vF e §?
A) DDT B) VCR
C) HCL D) TNT

Which of the following is a pesticide?

A) DDT B) VCR
C) HCL D) INT
Answer Key : A Your Response : A (Correct)

Question No. 55

FAAETA HI Scdfed fhe T # g8 4
A) e B) 3nfser
C) dfferg D) IeRId

o]

In which state did Bharatanatyam originate?

A) Kerala B) Odisha
C) Tamil Nadu D) Gujarat
Answer Key : C Your Response : C (Correct)

Question No. 56




I 3 TfrgeR i 4T 1 @eie & faw garfed €Il 8, o 3 WHT # R JaRr yarfed gem?

A) 60 FHerre

C) 90 Ferrs

B) 30 T

D) 180 Fers

If a current of 3 Amperes flows for 1 minute, how much charge flows in this time?

A) 60 Coulombs
C) 90 Coulombs

Answer Key : D

fofr @ Qo HX|

BB, OD, OG, KL, (.)
A) LO

C) VD

Complete the series.

BB, OD, OG, KL, (...)
A) LO
C) VD

Answer Key : D

B) 30 Coulombs
D) 180 Coulombs

Your Response : D (Correct)

Question No. 57

B) AG
D) SS

Your Response : Not Answered

Question No. 58

T AREd 9o W, 4% aIf¥E a¥ W 2 a¥ T AURYT s $.140 §1 TART AR W AT
X AR gae afer & v wwgfy s R AR sarer F @ 3R AT X

A) ¥.2.40

C) %.1.80

B) .2.80

D) %.3



On a certain sum of money, the Simple Interest for 2 years is Rs.140 at 4% per annum. Find the
difference between Compound Interest and Simple Interest on the same sum at same rate and

same period.
A) Rs.2.40 B) Rs.2.80
C) Rs.1.80 D) Rs.3
Answer Key : B Your Response : Not Answered
Question No. 59
s ¥ FiT @1 R e §7
A) @aEa B) s{ed
C) fawferd D) g@r 91

Which of the following is a viral disease ?

A) Measles B) Beriberi
C) Syphilis D) Rickets
Answer Key : A Your Response : A (Correct)

Question No. 60

fAfaf@a Aol & goa dear a7 fiEw|

28, 60, 90, 117, (.), 158
A) 132 B) 140

C) 144 D) 136

Find the missing number in the following series.

28, 60, 90, 117, (...), 158
A) 132 B) 140

C) 144 D) 136



Answer Key : B Your Response : B (Correct)

Question No. 61

1, 1,11

N I N S S R
go HIaT: f5rrtste T
A) B)
2
C)
1/22
Evaluate:1+1+l+l +l ... ao
2 4 8 16
A) B)
2 1/50
0 D)
1/22 3

Answer Key : A Your Response : A (Correct)



Question No. 62

4.55 #re & 3R 5.25 AT €Y TF IR F FAW HHER & TSR TS T ¢ §| TG
TR T ARAH R AT PiAT]

A) 21 @ B) 28 @AT
C) 35 T D) 25 &

A courtyard 4.55 m long and 5.25 m broad is paved with square tiles of equal size. What is the
largest size of tile used?

A) 21 cm B) 28 cm
C) 35cm D) 25cm
Answer Key : C Your Response : C (Correct)

Question No. 63

e 3/11 < x3 < 7111 §, af F=f@d & & Fi9 A1 X' FT AT &) Fham &7

A) 1 B) 0.5

C) 2 D) 3

If 3/11 < x/3 < 7/11, which of the following values can 'x' take?

A) 1 B) 0.5
C) 2 D) 3
Answer Key : A Your Response : A (Correct)

Question No. 64

seequaslt o A-Heres et Fr Y IR g F o TEe UE H g

A) TRTECT ToT B) &I g, &ff AW (Be He@lthy,Be
Mobile)

C) A& MIM D) ¥&iegeIMD

WHO has established initiative for the prevention and control of noncommunicable

diseases.



A) AirStrip ONE B) Be He@lthy,Be Mobile
C) Mobile MIM D) ResolutionMD

Answer Key : B Your Response : A (Wrong)

Question No. 65
§aT W FT & Uo7 & yau F arell T ot & govr gehei?
A) fFee & afger B) 3ifdea &fr 3R
C) 37fdeld T o9rstar 90 fBaff W} D) 3ffield & g

How will the light rays passing from air into a glass prism bend?

A) As the normal B) Towards the normal
C) Almost at 90 degrees with normal D) Away from the normal
Answer Key : B Your Response : B (Correct)

Question No. 66

Ffead Y9 W AT 0 a9 A ACHIT A W dceler & fAw, 39sr fu v av i

|
A) 273 ST B) 273 & U &=
C) 273 Her D) 273 & faenfara &
To change a temperature on the Kelvin scale to the Celsius scale, you have to the

given temperature.

A) Add 273 to B) Multiply 273 by
C) Subtract 273 from D) Divide 273 by
Answer Key : C Your Response : B (Wrong)

Question No. 67
ey f3eat W et fir ;feer Fr sl §, Sear & o161, HifF |
A) SEAT fear & e rfAfRareier gar & B) SIEAT T ITeielieh fead & 31 BT &
C) ST&ar fesT & #HEm BT © D) & foeet & e srfafshareler giar




Food cans are coated with tin and NOT zinc because-

A) Zinc is less reactive than tin B) Zinc has higher melting point than tin
C) Zinc is costlier than tin D) Zinc is more reactive than tin
Answer Key : D Your Response : D (Correct)

Question No. 68

& & sghr # R o 82

A B
)18 )12

0 D)

How many squares are there in the given figure?

A B
)18 )12



0 D)

Answer Key : D Your Response : D (Correct)

Question No. 69

A 3R B Fr Y FT AT 3 : 2 Bl GH a¥ 9IG 3T Y H AT 80 ERIM| 3T TAAT HY
foreretr &7

A) 36, 24 B) 27, 18

C) 42, 28 D) 45, 30

Age of A : Age of B is 3 : 2. Ten years hence, the sum of their ages will be 80. What are their
present ages?

A) 36, 24 B) 27,18
C) 42,28 D) 45, 30
Answer Key : A Your Response : A (Correct)

Question No. 70

TF g @ d gl W Bua, M 3R m gEmae gl & a3t F fiw oo arem 3eRdoT ao
& SopA g &

A) 3eTeh & Hr gl : d B) 3t &< & g &1 e d?

C) 3o g & gl & Feieger: d12 D) zo% g fr gt & ae1 : o3

The force of attraction between two objects of masses M and m which lie at a distance d from
each other is inversely proportional to-

A) The distance between them : d B) Square of distance between them : d?

C) The square root of distance between them D) The cube of distance between them : d3
: d1/2

Answer Key : B Your Response : B (Correct)

Question No. 71




IR x +y =118 ar (-1 + (-1, ____ & ST &l

(Tet x 3R y qoF e #)
A) 2 B) 1
C) 0 D) -1

If x +y =11, then (-1 + (-1)Y is equal to
(where x, y are whole numbers).

A) 2 B) 1
C) 0 D) -1
Answer Key : C Your Response : D (Wr

Question No. 72

Tt 3 it & Ay AR =F I 39 F B
A) HTFEISTT B) gEEiei
C) el SSIFATSS D) aTsciaist
All acids produce gas on reacting with metals.
A) Oxygen B) Hydrogen
C) Carbon dioxide D) Nitrogen
Answer Key : B Your Response : B (Correct)

Question No. 73

I 200 gev, 9fafes 8 @ FH F%F 6 7 & vF A wWe
Thd &, ar Ifg 300 HEATAT #F 9fa T 6 ¢ FH N+ T
Qe &7 Traar HT PE?

A) B)

6 feer s1R=



O D)

4= =1 TRa

e

If 200 men can dig a canal working for 8 hours a day in 6 days, how

long will it take to dig the canal, if 300 men work 6 hours per day?

A) B)
.1
6 days 5_ days
3
0 D)
2
4 3 days 7 days
Answer Key : B Your Response : Not Answered

Question No. 74

NH3 & ATSgIstal & HaTsthdT fohdell 872
A) 1 B) 4
C) 3 D) 2

The valency of nitrogen in NH3 is-
A) 1 B) 4
C) 3 D) 2

Answer Key : C Your Response : C (Correct)



Question No. 75

Foft % & 33 30 AR 6 Q F AT F R wfader wr gem?
A) 12 Q B) 2 Q

C) 90 D) 16 O

What is the resultant resistance of 3 Q and 6 Q resistances connected in series?

A) 120 B) 2Q
C) 90 D) 16 Q
Answer Key : C Your Response : C (Correct)

Question No. 76
T ¥ Pl & AN GETT: ATt garr e 2
A) e B) ©X& AT
C) Holfr D) arfsar

Which of these diseases is usually transmitted by mosquitoes?

A) Jaundice B) Chicken pox
C) Malaria D) Arthritis
Answer Key : C Your Response : C (Correct)

Question No. 77
HRA & G Slelel o1 9g fAefaf@d # ¥ fFas qanr g fhar @ ar?
A) #ART &R ARAATH, 1935 B) @ AT, 1813
C) =X F™fags, 1833 D) $1Rd & Isadre Jfafags, 1858

Which of the following created the office of Governor General of India?
A) Government of India Act, 1935 B) Charter Act, 1813

C) Charter Act, 1833 D) Governor of India Act, 1858

Answer Key : C Your Response : D (Wrong)



Question No. 78

GIoT Y I HE Fh, TH F Tolor Y& fhar 3R 30 HAex 9o & «1g ¢ {3 1AM 98 25
et T AR ¢ F3H 30 AT Tom| TF I RS Pufy F frael oy ik frw far & &2

A) 30 #hex, q§ B) 25 ey, @@
C) 39el &I foig W D) 25 #iex, IRTH

Facing towards south, Ram started walking and turned left after walking 30 m. He walked 25 m
and turned left and walked 30 m. How far and in which direction is he from his starting position?

A) 30 m, east B) 25 m, east
C) At the starting point only D) 25 m, west
Answer Key : B Your Response : B (Correct)

Question No. 79

et & ¥ Pl W Rerf@a K i 0 & FRor @5r 82
A) IFd & U STHA HT [aHerd B) S« &T 3mRaeraar

C) df¥reiy (Neuritis) D) Ty H SARCITATE T Solall

Which of the following occurs due to deficiency of vitamin K?

A) Failure of clotting of blood B) Non-maturation of ovum
C) Neuritis D) Blastocyst formation in uterus
Answer Key : A Your Response : A (Correct)

Question No. 80

T AR Savard & TS, T, b 3R MW AHF IR IT-3769T /A 87
A) 3RRITCTeT B) feeh

C) ST D) qUdRR
Which Indian waterfall has four distinct falls namely Raja, Rani, Rocket and Roarer in it?

A) Athirapilly B) Hirni

C) Jog D) Dudhsagar



Answer Key : C Your Response : Not Answered

Question No. 81

gfe BOOK-PEN = 8 &, ar PEN-NIB = ?
A) 10 B) 6

C) 8 D) 12

If BOOK-PEN = 8, then PEN-NIB = ?

A) 10 B) 6
C) 8 D) 12
Answer Key : A Your Response : A (Correct)

Question No. 82
ALY YA TR @RI Y& A 3 ATIHA JaT FAAS Aotell o 3 frad wafed g2
A) 31 §T @ HASR T & A Jarsil &I B) HMUh T & HHGAR T & Feal dl e

& "1 200 feeT &1 eI fRreT
C) 3¥eh & ¥ HASN dd &I oIslhdi @ D) 3RS &7 @ FHAGAN T & A Jawsit
facdT @grrar & @1l 100 feoT &1 oI

Mukhyamantri Yuva Swabhiman Yojana launched by Madhya Pradesh government is
associated with-

A) 200 days of employment every year to B) Free education to the children from
urban youth from economically weaker economically weaker sections

sections

C) Financial support to the girls from D) 100 days of employment every year to

economically weaker sections urban youth from economically weaker
sections
Answer Key : D Your Response : D (Correct)

Question No. 83

(1 - cos? @)(cot?0 + 1) - 1 & AT AT HfaT]



A) sec?0 B) 0

C) 2 D) -2

Find (1 - cos? 8)(cot?8 + 1) - 1.

A) sec®0 B) O
C) 2 D) -2
Answer Key : B Your Response : B (Correct)

Question No. 84

30 T &1 TIT F, AT AFT H T e

St &% forT wafeas 39g+d &
484‘576 225 89
529
. W
: ¢
O g D)

57




Choose the alternative that best replaces the question mark(?) in the

given figure.

484 576 225 289

529 256
A B
) ) 41
53
C D
) 48 )
37
Answer Key : C Your Response : C (Correct)

Question No. 85

fifaf@a & & Y 2019 #F FONTRIT HRT T § FFATlAT fRar I=r?
A) dedd ARRE Jled B) TSl SHE

C) 3R SI&HURIG FHehs D) 9ot H@sit

Who among the following was posthumously awarded the Bharat Ratna in 2019?

A) Balwant Moreshwar Purandare B) Nanaji Deshmukh
C) Ashok Laxmanrao Kukade D) Pranab Mukherjee
Answer Key : B Your Response : B (Correct)

Question No. 86

RE qgrd, s 3FARFAT F s v R 3T A 9fy = Tor & ¥, 3V AT FaT AT 27
A) 39 (Catalyst) B) 3@ eRe(Reactant)




C) 3curg(Product) D) wraRrereR(Inhibitor)

A substance that increases the rate of a reaction without itself being consumed is called-

A) Catalyst B) Reactant
C) Product D) Inhibitor
Answer Key : A Your Response : A (Correct)

Question No. 87
R ST TR # & R @ & Wt &2
A) e B) &fehr

C) <=d D) weard

o]

With which of the following sports is Mahesh Bhupathi associated?

A) Cricket B) Hockey
C) Tennis D) Football
Answer Key : C Your Response : C (Correct)

Question No. 88

S0 WA H, Th HYA F a1g ool fshy QU e §) faswd(sh) A gof S aifees &7 & waifes
39gd @

hYeT:

" TT & T Hles A T 3TAET HY" - T 9T

sy

l. AT N W1 F AT HA F7 STAATT FET TG A &



Il. SRTF T TN & a9 TN AT ¢

Il ST Rt Fr Sae & §
A) hael sy | 3R 1l 3UgF g B) &aer sy | 3ugerd Bl
C) adl fasey Il 3uged g D) IS 8 ey 3ugeFa w7gT B

In this question, a statement is given followed by three conclusions. Choose the conclusion(s)
which best fit(s) logically.

Statement:
"Use cold cream for fair complexion"—an advertisement.

Conclusions:

I. People like to use cream for fair complexion.
Il. People are easily fooled.

lll. People respond to advertisements.

A) Only conclusions | and Il follow B) Only conclusion | follows
C) Only conclusion Il follows D) None of the conclusions follows
Answer Key : D Your Response : B (Wrong)

Question No. 89

T5 H 6 T F Hed W QI 715 a&31T A 5.6 A 5 97 & G W A W X Frelr WioereT
A A FifSe

A) 33% B) 30%

C) 44% D) 25%

What is the gain percent when articles bought at 6 pieces for Rs.5 are sold at 5 pieces for
Rs.6?

A) 33% B) 30%
C) 44% D) 25%
Answer Key : C Your Response : B (Wrong)

Question No. 90



TF AT FT GRAT, 18 FHS o A TF @91 & IRAT & SNET g1 I 3 #r =i 45
2, ar ST Ewd AT AT

A) 1360 TdT sFIS B) 1050 @r ShTs
C) 1152 @ 3&Ts D) 1215 Tdf s1s

The perimeter of a rectangle is twice the perimeter of a square of side 18 units. If the breadth of
the rectangle is 45, what is its area?

A) 1360 sq. units B) 1050 sq. units
C) 1152 sq. units D) 1215 sqg. units
Answer Key : D Your Response : Not Answered

Question No. 91

g &7 folor fFad fAuiRa gar &2
A) TOar & &Fd @Fg @ B) #HAE-UAr & Rh ®R& &
C) HAl & {&Fd ¥Hg & D) v gT &
What determines the sex of a child?
A) Blood group of father B) Rh factor of the parents
C) Blood group of mother D) Chromosomes

Answer Key : D Your Response : D (Correct)

Question No. 92

AT R # Hisg G FOR ggr FlaT a1 §?
A) 3aTell &I ATGA B) Wiuar &r gsfear

C) = &u D) &id & W

Which is the hardest substance in the human body?
A) Finger nalil B) Skull bones
C) Knee cap D) Tooth enamel

Answer Key : D Your Response : D (Correct)



Question No. 93

s Sl @47, SEl Aol a9 & AU cdfiga @ o= ¢ 9 g F AT srEeas FwAr
STell §U ST § 9IS H S @, 39 e A ¢

A) SIS faega @37 B) Stelfdegd @I
C) a9 faegd wg= D) &R faega &I+

A power plant where the heat required to make steam to drive turbines to make electricity is
obtained by burning fuels is called-

A) Nuclear power plant B) Hydro electric power plant
C) Thermal power plant D) Solar power plant
Answer Key : C Your Response : C (Correct)

Question No. 94
e gest o 14 #AQ, 8 AR AN 7 HER HI RGN H T oW A gaur fRAr| Al 3
TS T eI 5: 7: 8 ¥, 3eTeh fo¥aRT 1 e[ T &7
A) 20 : 49 : 64 B) 5:.4:4

C)5:7:8 D) 28 : 49 : 64

Three men entered into a business in partnership for 14 months, 8 months and 7 months. If the
ratio of their profitis 5 : 7 : 8, what is the ratio of their investments?

A) 20:49:64 B) 56:4:4
SISy / . 8 D) 28:49:64
Answer Key : A Your Response : Not Answered

Question No. 95

3 HFT F TS B, S FEAag AE & §= oF @Ey #7
Tafeaw 2o & fowia & 8l

W, 3T, g

A) B)



O] D)

Choose the figure that best represents the relationship among the
classes given below.
House, Brick, Bridge

A) B)
@) D)
o9
Answer Key : D Your Response : C (Wrong)

Question No. 96

ffaf@a SR & &Rt @ ¢ 3R i e a1 wee &1 3R &I

39, 919, #Ifd, dr9e, gRel, a@d, M AR FAR TF god & IR IR g A 3N J§ WS
& § T, 38a F @ AR AW 3N FAR F a1 W AW T | do1 § A, 30 F
3R =Y T W AS B 36, FHT AR T F SF Forer F AE Jor T M, A F S W



# T8 A& 71 M, U F % W qE VA W A8 7

farfaf@a & & Fla el F a1 3 F T ¥ W dor 32

Read the following information carefully and answer the question given below.

Arjun, Banu, Keerthi, Deepan, Harini, Vasanth, Gayathri and Kumar are sitting around a circle
facing the center. Banu is third to the right of Vasanth and third to the left of Kumar. Keerthi is
fourth to the left of Arjun. Arjun is not an immediate neighbour of Vasanth and Banu. Harini is
not an immediate neighbour of Banu. Gayathri is second to the right of Deepan.

Who among the following is third to the left of Harini?

A) Deepan B) Gayathri
C) Arjun D) Banu
Answer Key : B Your Response : Not Answered

Question No. 97

e ARaa gt = v AREa o & o fFr srar 81 afe amehr oy @ Qe aw & au R
ST @, o Sl =il T He[drd AT FY

A) 3:2 B) 4: 1

C) 2:1 D) 1:3

A certain distance is covered at a certain speed. If half the distance is covered in double the
time, what is the ratio of the two speeds?

A) 3:2 B) 4:1
C) 2:1 D) 1:3
Answer Key : B Your Response : Not Answered

Question No. 98




ffaf@a SR #F & @ ¢ 3R i e a1 wRe &1 3R &

A9 WE L, H, K, T, F, J 3k R 3efds & ,USA, 99, :IRm, wiw, &9, sieeforr ik
siarer &Rt T gfafafes ava § 9% ¥erT T 3T W@, S dleliald, dRarsl, Tshel feT,
e, Fearel, vyeRtew AR Jedla, # AR Jar ¥ SafEdl, S AR Qe F o dar &
BT 3MeRTF el gl

K dRerelr & fauw € &1 ufafafdca swar 81 T, USA &t ufafafca swar & afeea atelaier ar
WEwa féer F faw agt s S F v F=ar § 98 FgEharst & ser ar gl F
dielister 7 HET o § afted FANAT & v 7 h L vyafesw & ireefomr @ gfafafaa Har §l
St &9 & e =ar § g d=w & swr dar §1J, P I soe & gt a8
T 81 R TS fEer 7 Her A B

fifaf@a Teey, @ 3R 3 & AT & & HleT T e &1 & A Giar g?
A) Jcfa—wa B) J-fra—mia
C) R-lT-—wa D) R—faE—3hie

Read the following information carefully and answer the question given below.

Seven members L, H, K, T, F, J and R represent different countries in Olympics, USA, China,
Korea, France, Russia, Australia and Japan; each one competes for a different sport, viz.
volleyball, archery, rifle shooting, tennis, boxing, athletics and football. The order of persons,
countries and games is not necessarily the same.

K represents China for archery. T represents USA but not for volleyball or rifle shooting. One
who represents Japan competes for boxing. F competes for volleyball but not Korea. L
represents Australia for athletics. The one who represents Russia competes for tennis. J does
not represent Korea or Japan. R competes for rifle shooting.

Which of the following combinations of member, sport and country are CORRECTLY matched?
A) J—Tennis—Russia B) J—Tennis—France
C) R—Tennis—Russia D) R—Tennis—France

Answer Key : A Your Response : Not Answered



Question No. 99

A, 'B' F 25% o W ¥.300 F Al 991 &1 'B' 38 10% gfd W 'C' & J=ar §1 39 die H,
C 1 H7 e, A F F7 {7 & e vfavrd & R §?

A) 97.50% B) 87.5%

C) 110% D) 112.5%

'A' sells goods to 'B' at 25% profit for Rs.300. 'B' sells it to 'C' at 10% loss. In this sale, C's cost
price is equal to what percent of A's cost price?

A) 97.5% B) 87.5%
C) 110% D) 112.5%
Answer Key : D Your Response : Not Answered

Question No. 100

T e 30 HeX AT Ay AR T §1 Y, H9A ¥ AR HsH, gF 30 HeX ToIar ¥l B,
YT a1 R AFH, ¢ 20 HAeX dedar g1 T q, A9l 915 3R Fs, a8 30 X T ¢
qE Y= YOI foig & el gfr W &2

A) 80 HieX B) 30 #Hiex

C) 50 #rex D) 20 #Hrex

A man walks 30 m towards south. Then, turning to his right, he walks 30 m. Then, turning to his
left, he walks 20 m. Again, turning to his left, he walks 30 m. How far is he from his starting
point?

A) 80m B) 30m

C) 50 m D) 20 m

Answer Key : C Your Response : C (Correct)
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